
MAC 2311 Quiz 1 Ll-L2 

Name: 
Instructor: Minseo Cho 

1. Solve the following inequality and describe the set determined by the condition. 

X <-I OY- X '"JO 

.\\) l-t ½ (-\ (·: -~ (- I ~V\~ \-3\-=3) 1) 

wh~ l'(1-)( = X (3X-t-1) 

... 

~ ~~-r X < -'j.J- =I 3>X.2.-t X < 0 
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(-oo > -U V l-"l" , o ) V ( o , oo) 
2. When f(x) = (x -1)½ and g(x) = 8x3 + 1, compute (f o g)(x) and describe its domain. 

\) FrnJ ~ =- Clo~) r"-) -=- ?~ , , -L. 

- 3 l ).J 'I -=\to~)(~) = t ( ca,(,c.)) = (. 8,00 - l )3 = ((8X3-\- I)-\ J = ( 8~ ~I-I 
\ _j_ ..L ~ .l. 

:: ( 8 )(3 )-;j'" = (g ) .s . ( ).3 )~ = (:2..'!, t . (X3 ).J = .2.~ .XI -::. -2')( 

,2. ) lh~ ~r'\S'We>r rs ,~ . ( OV" YoV.. (Q\VI S'1';j ( -~) 00 ) • ) 

Q) when X'-1 (o > -f ~V\ be.. J ~,rn.,~ . (·: Wneh x=o;x-\-:.-1 <o, 
.J.. 

~V\J. (-1 ~ ~ -1 . we\l - M 7ttu. ! ) 
© l+ X-\ = o) We. C&\n u111l c:leJ.rn<- +- AS well . 

( . . .l. ) . Q-3 ::. 0 

a~ J if WL tJo/JJ'[Je,,v ~ ~ 1 = ()<-I)}, 1/Je.. r)e~j_ ""t- be.• CO\~-fttl 

(·: wh~n X -4 =o .-> (o rt= ~f = ¼ ( W<l athlt .l<lttw.. -Hll's .) > 
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